Task 5: Back-to-Back Stem-

and-Leaf Plot N
Part A: Complete two Back-To-Back Stem-and Leaf-plots utilising one categorical variable from Task One
and two players from a single position for each plot.

Each stem-and-leaf plot should isolate only one statistic and plot data from each of the 25 rounds from last
year’s NRL season. Two players from the same position will have their data on a chosen statistic compared in
each of the two plots.

Part B: Construct a statement for each Back-To-Back Stem-and-Leaf plot examining the shape of the
distribution of data.

Utilise terms such as ‘positive skew’, ‘negative skew’ and 'symmetric' and 'bi-modal'.

Each stem and leaf plot should isolate only one statistic and plot data from each of the 25 rounds from last
year’s NRL season.

Example of standard stem-and-leaf plot:
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